
[Access specifier] [Access Modifier] (return type/void) (function name)(parameter list)

Syntax of function:

Body of function

public static void main (string args (s)

}



* Access Specifier

(a) Public. Public data and methods can be
accessed everywhere within as wells
as outside the class in which they
were declared.
It can be inherited.

Protected data and methods
(6) Protected • can be accessed anywhere• -

within their class, other classes in
their package and sub classes in
other packages.
It can be inherited.



class → methods/data membersPackages -

(c) default (friendly / Package

(d) Private : Private data & member-methods
can only be accessed in the class
in which they they were declared.

It is the most secure access
specifiers.
It cannot be inherited.

: only in the
same package



* Access Modifiers:

(i) S latic : Any static method or variable is of
class type and it can be directly
called on accessed within any
function in the same class
without help of any object.

A non static function or variable
is required to be called through object

from any static function of the class.



7) final



Eg: class fun

public static void calc ()

{ int a = 10;
int 6 = 20;

} Sopin (atb);

public void acc ()
{

calc ();
}public static void main (string args (T)
{

3

Fun obj = new fun ();

obj. acc ();

}

☑



* Formal parameters & The parameters,.
appear in the function

Function definition definition statement
statement. are called formal

parameters.

Eg: public static void sum

-

(int a, int b)

int s = at bi → 33
Sop/n (s);-

} 330

717 16

formal
Parameters.



+ Actual Parameter ⇒ The parameters which
appear. in function

calling statements are
called actual parameter-

Eg: public static void main (string args (s)

{ intr = 17; ✓
int y = 16; ✓ Actual Parameters

☑ um n j v 33

sum (10,2¥; → 30



* Return data type: It tells about the
data type of the value
that has to be
returned to the
calling function.

Ef int sum ()
{

}



* return: It is used to return a value to the

calling function.

* Note: A method cannot return more than
one value at a time.
It sends the control back to the
calling function.



{int sum (int a, int b)

}
Public static void main (St

int s = .at 6;

returns:
ring args (7)

{Numbers obj = new Numbers ();

class Numbers

ints =
Sop/n (s);

}

obj-sum (10,20);

3

3

30



♀ WAP to point the factorial of 5.

8017 class factorial * a ✗ 3 × 2×1=
{ psum (_
{int f = 1;
for (inti = 1; i (=5; it t)

±
f = f- * i;

}
Sop/n (f);

}

factorial of 2 = 2×1

1 1 11 3 = 3×2×1

factorial of 1 = 1

1
2×1 =
3×2-
4×6 =

6

2

5×24 = 120

120



class factors

psum (string anys (T)
.

int c 0;

for (int i-1; i < = 10;. it t)

{ if (10 % i = = o)
C++;

}
}



♀ Design a class Numbers as follows:
void factorial (): to input a no. through

Keyboard & print its
factorial.

Void prime (): to input a no. through
Keyboard & check 4 print
whether its a prime no. or
not.

Also write main method to input to no • s using
above functions & print factorial of each
no- & check wether it is prime or not.

import java. utilo Scanner;

class Numbers
{

void factorial ()

{scanner obj = new scanner (System.in);

sopin ( "Enter a no.").
int n = obj. next Int ();
int + = 1

for (int it; i ⇐ n; it +)

{ f = f #i:
}
Sop/n (f);

void prime ()
{

Scanner obj = new Scanner (System • in);
int n = obj. next Int ();
int c = 0;
for (int 1=1; i ⇐ n; itt)

{if (ny. i-- o)
Ctt;

}
i f (c = = 2)
Sop/n (n +" is a prime no.");

else
so pln (n + "is not a prime no.");.

public static void main (string args(7)

{scanner obj = new Scanner (System.in) 
Numbers of = new Numbers ();
for (int i = i, i c = lo; il t)

{ of. factorial ();
06. prime ();

{



H/w will be sent by tomorrow!

Thankyou!


